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= Year 7/8                = ALGEBRA                = Worksheet 4
	1. Find a value of x that satisfies the equality 
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. Write down a value of x that does not satisfy the equality.

	2. Write down two values of x satisfying the inequality 
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. Write down two values of x not satisfying the inequality.

    

	3. Find all the values of x satisfying the inequality 
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Find all the values of x not satisfying the inequality. 

	4. Identify the set of integer values of x for which 
[image: image4.wmf]8

6

5

<

-

x

.

	5. Solve 
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for x.
	6. Identify the set of integer values of x for which
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	7. Find the values of x such that 
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	8. Find the values of 
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 such that
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	9. Find the values of x such that 
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	10. Solve 
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 for x.

	11. Find the values of x for which 
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 is not true.

	Numerical, algebraic and worded answers.
[image: image13.png]


1. x = 4; x = 5


2. x = 5, x = 5.2;


    x = 4, x = 3.9


3. x > 4;  x ( 4


4. All integers less than 3


5. x = (3, 3


6. x = (2, (1, 0, 1, 2


7. x < 0.2


8. 1/x < 0.2


9. x < 0.5


10. 3 < x < 7


11. x ( 3 or x ( 7
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